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1.

(i) P=2x—-Ty (i) A=3r+4y
xz =30 =17
y=9 y=-—3

Work out the value of P

Work out the value of A

(i)

(i) . oo
x =20
y=-9
P=2x+Ty

Find the value of P

(iv)

p=>5m-+9n
m=2
n=—>y

Work out the value of p

(i) .. ... (iv) .. ...
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1.
() P=22-Ty (i) A=3z+4y
x =30 r=7
y=9 y=-3
Work out the value of P Work out the value of A
(i) ..o (i) ..........
(iii) = =20 (iv) p=5m+9In
y=—9 m =2
P=2x+T7y n=-—>5
Find the value of P Work out the value of p
i) .. ... (iv) .. ...
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2.
i) b=09 (i) g=4
h=—-4 h=T17
Work out the value of 6b + 7h f=2g—5h
Work out the value of f
(i) ..o (i) . ...

3.p=-2
q="9

Find the value of 7p 4+ 5¢

2.
i) b=9 (i) g=4
h=-4 h=T17
Work out the value of 6b+ 7h f=2g—5h
Work out the value of f
(i) ..o (i) . ...

3.p=-2
q=29

Find the value of 7p 4+ 5¢
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